
 

 
 

 
409S® Stainless Steel 

SYSTEM #817275 
1999-2004 FORD MUSTANG 

V6 ENGINE 
 

05/10/11 
 

Removal: 
 
1) Disconnect the negative side of the battery cable.  Raise the vehicle up on a hoist or rack to 
working height.  If you do not have access to a hoist or rack raise the vehicle and support securely 
with jack stands. 
 
2) Using a hacksaw or sawsall, cut the stock tailpipe off approximately 2” behind the muffler case. 
  
3) Separate the tailpipe hangers from the rubber mounts at the rear of each tailpipe.  A lubricant 
may ease removal.  Remove tailpipe. 
 
4) Support the stock muffler with a stand.  Remove the two nuts at muffler to catalytic converter 
connections. 
 
5) Separate steel muffler hanger on the rear of the muffler from the rubber mount on the vehicle 
and remove the stock muffler from the vehicle. 
 
Installation: 
 
1) Before installing anything, prep the clamps supplied in the hardware kit by removing the nuts, 
and applying a thick lubricant such as white grease or anti-seize to the threads. 
 
2) Bolt up hanger #363HA on right side of vehicle body underneath back seat, just like the left 
side factory hanger.  Use the supplied 5/16” x 3/4" bolts, lock washers and nuts and tighten firmly.  
Then place the two supplied rubber hangers #HA168 onto the hanger rods you just bolted to the 
body. 
 
3) At the rear of the vehicle behind the bumper in each corner on both sides place a supplied 
5/16” x 3/4" bolt with flat washer up and down into the factory inner holes.  Place hanger #HA602 up 
onto the bolts along with the 5/16” flat washers, lock washers and nuts supplied in the parts kit.  The 
rubber hangers should face the outside of the vehicle.  Tighten both hangers securely into place. 
 
4) Take the Y-pipe/muffler assembly #16326S and place it up in muffler location under car seats 
and slide hangers welded to muffler into the rubber mounts under the back seats (the one you bolted 
on and stock hanger.)  Bolt the front end with flange to the stock flange behind the catalytic converter.  
Tighten enough to hold, but still allow for adjustment. 
 
 
Pg 1 of 3      Technical Support (800) 544-4761 
 



 
 
 
5) Take the left side tailpipe #16328S and maneuver it over the rear axle (from rear to front).  
Slide hanger welded to tailpipe stainless into rubber mount at rear of vehicle.  Slide front end of 
tailpipe into outlet of muffler and slide hanger into rubber hanger by muffler.  Repeat this step for right 
side tailpipe #16327S (jacking the body up may make it easier to install tailpipe over the axle).  Place 
a 2 1/2" clamp on outlet of muffler and tighten enough to hold, but still allow for adjustment.   
 
6) Adjust the position of the muffler and tailpipe to provide adequate clearance for suspension 
travel.  Maintain a minimum of 3/4” clearance between the Flowmaster system and the drivetrain and 
chassis components. 
 
7) Tighten down all clamped connections securely.  After the system is secure, slide the hanger 
keepers onto both the hanger rods above the muffler outlet.  This will prevent the hangers from 
slipping out of the rubber mounts. 
 
8) For a more secure installation, we recommend welding all slip-fit connections.   
 
 
 
 
 
 
 
      PACKING LIST 

 
   Qty   Description   Part # 
 
   1   Y-Pipe/Muffler Assembly 16326S 
   1   Tailpipe, Left   16328S 
   1   Tailpipe, Right  16327S 
   1   Parts Kit   PK569 
     1  Muffler Hanger, Right  363HA 
     2  Tailpipe Hanger, Left & Right HA602 
     2  2 1/2" Clamps   MC250BS 
     2  Rubber Hanger   HA168 
     4  5/16” x 3/4” Bolt 
     4  5/16” Lock Washer 
     4  5/16” Nuts 
     6  7/16” Hanger Keepers  
 
 
 
 
 
 
 
 
 
 
 
 
Pg 2 of 3      Technical Support (800) 544-4761   



 
 

409S® Stainless Steel 

 
 

Technical Support (800) 544-4761 

Installation diagram for: 
SYSTEM #817275 

1999-2004 FORD MUSTANG  
V6 ENGINE


